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General Instructions :
Read the following instructions carefully and follow them :
(1) This question paper contains 34 questions. All questions are compulsory.
(it) Question paper is divided into FIVE Sections — Section A, B, C, D & E.
(ii1) In Section A — Question Nos. 1 to 21 are Multiple Choice Questions
(MCQ) type questions.

(iv) In Section B — Question Nos. 22 to 27 are Short Answer (SA) type
questions, carrying 3 marks each. Answer to these questions should not

exceed 60 to 80 words.

(v) In Section C — Question Nos. 28 to 30 are Long Answer (LA) type
questions, carrying 8 marks each. Answer to these questions should not

exceed 300 to 350 words.

(vi) In Section D — Question Nos. 31 to 33 are Source Based questions with

three sub questions are of 4 marks each.

(vit) In Section E - Question No. 34 is Map based question, carrying
5 marks that includes the identification and location of significant test

items. Attach the map with the answer book.

(viit) There is no overall choice in the question paper. However, an internal
choice has been prouvided in few questions. Only one of the choices in

such questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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Qug —<h

(STeferehedia TR & T9) 21x1=21
1. Trafafea 3 @ dfaam aun ° foram searfaa fran o 56 ‘e &1 T sast aum 31
T hafET, dwhe 3R el & 1 %1 &fadt faom’ gom ? 1

(A) TSIz TEE (B) SETELETS &%
(C) wrea TMieft (D) *.wA. geft

2. A ME ISR ! gfeu 3R Frafefaa foepedi # @ 1857 o a1 ! Tg=iT ; 1

® 374Y <hl ddTd
® 3T TE ¥ IAR T shedehd (aitid o fezrm mam |
o 3TUSI 7 IV ITelIh T NTEeh T I 7Teid T |

forerea
A) fofsa g (B) g 3TTem
(C) g Jreft vme (D) EIGLIME
3. Tmafafaa = s e # safer Hifie it @& fases w1 == fifv 1
I. o fagie

II. <ohd & el § il
II1. ST § SEHU Seieed
IV. oir Coehd § 9gell USTEd Sered

forea ;
(A) I, 1II, ITI 3R IV B) IL III, IV 3R I
(C) TIIIL IV, I3RII D) 1V, I, II 3R III
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SECTION - A
(Multiple Choice Type Questions) 21 x1=21

1. Who among the following in the Constituent Assembly proposed

‘horizontal tricolour National flag of saffron, white and green in equal

proportion’ ? 1
(A) Rajendra Prasad (B) Jawahar Lal Nehru
(C) Mahatma Gandhi (D) K.M. Munshi

2.  Read the given information and identify the leader of 1857 Revolt from
the following options : 1

e Nawab of Awadh
® Was dethroned and exiled to Calcutta

® British wrongly assumed him as unpopular ruler

Options :
(A) Birjis Qadr (B) Shah Alam
(C) Wajid Ali Shah (D) Bahadur Shah

3. Arrange the following in chronological order and select the correct order

from the following options : 1
I.  Santhal Rebellion

II. Riots in Deccan Villages

III. Permanent Settlement in Bengal

IV. First Revenue Settlement in Bombay Deccan

Options :
(A) I 1II,III and IV (B) II,III, IV and I
(C) III,IV,IandII D) IV, I, 1II and III
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4. Tmafafea %1 gufaa Fifm

-1 g-11
(e wmarea | 4f#) (Feréreram)
i T a.  ged @t < S s
i, o b. @ AR A % e ot e
iii. =R c. T HA b for wxelt Sl
iv. &R d.  df= | 9 @t 7 1 TS i
forerea :
i il iid iv
A a c b d
B) b c d
©) ¢ d

[oN

o
oo
o

D)

5. oo st am geht o wet 7 fraferfea § | IueR foehew &1 = Shifsr
(A) Ig ™ FHTCE T A fosrFr w1 feam o |
(B) Ig A hifer Hehail, ST U YUITeIg &, I foram mam e |
(C) 8 I T ot e | foam o |
(D) ¥g T fager 3R fawaer aansti s wmfiq o |

6.  HEAHICIM W o 1Y e o Heig § freAfeifad 4 & s o1 hud el 961 8 7
(A) 1 TEIEH J&Id: HRITC TG 61 T |
(B) g W W1 § 3794 fom wEd 9 |
(C) 3 W AR ST ARAH ¥ |

D) R GE 39 TEIeE H | Th @ 9 |
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4. Match the following : 1

List-1 List-I1
(Lands in Mughal Empire) (Features)
1. Polaj a. Land always being cultivated
il. Parauti b. Land fallow for three to four years
iii.  Chachhar c. Land fallow a year
iv.  Banjar d. Land uncultivated for five years
Options :
i i il v
(A a c d
B) b
©) c d
D) d ¢ b a

5.  Why was Vijayanagar named as Hampi ? Select the appropriate option
from the following : 1
(A) This name was given by Krishnadeva Raya to Vijaynagar.
(B) This name was derived by Colin Meckenzie, an antiquarian.
(C) This name was derived from the local goddess named Pampadevi.

(D) This name was devoted to Vithhla and Virupaksha deities.

6.  Which of the following statements regarding ‘Nath’ sect of Medieval India
is NOT correct ? 1
(A) Nath sect mostly came from artisans groups.
(B) They expressed themselves in common language.
(C) They were the devotional people from north India.

(D) Amir Khusro was the prominent one from this sect.
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7. Tr=fafed 3 @ fore oo 8 ‘gt SREEn HeleE o ¢

(A) =F (B) g

(©) wF (D) W%

8. Tr=feifaa fashedt # @ ff wqu &t GtaTcHe faemar St A & 3ifeha &t 718 8 61 vga™
SHiferT

(A) sl B) =

(C) =fva D) Bad

e : et wom givaiim udenfaai < fom wom dem § F e w g :

frefafad 9 9 fore T W gg 3 37991 Tgen 3uew feam ?
A) dfesdt B) W™

(C) FIfR (D) e
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7.  Which of the following countries ‘Duarte Barbosa’ belonged to ? 1
(A) Russia (B) Portugal

(C) Spain (D) France

8. Look at the figure given below and identify the structural feature marked

as ‘A’ of the Sanchi stupa from the following options : 1
(A) Harmika (B) Anda
(C) Yashti (D) Chhatri

Note : The following question is for the Visually Impaired

Candidates in lieu of Q. No. 8.
In which of the following places Buddha gave his first Sermon ?
(A) Lumbini (B) Sarnath

(C) Kushinagar (D) Bodhgaya
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9. Tr=fafaa & & % 91 R & TS 1 FE) BIATIHIHS A B ?
(A) T, HRE 3R T (B) WM, T 3R Ih
(C) HH, 31 3R T D) T, IH FR A

10. Frafafgada s argmadi g ?
-1 11
(FT GRAE) (3T Y riefa)

T 1 — I
i. TEFE ~ Tw
iii. YR — TSR
iv.  erefte — TEEH
ferepea
(A) i iy
(B) 1i3MWiv
(C) ii 3R iii
D) iii 3R iv

11. fr=fefed 9 @ ot guredt fora Tetas <6 of 2
A) T B) #H

(C) Hu™ (D) dTreh1Eh
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9.  Which of the following is the correct chronological sequence of the ruling

dynasties of India ?

(A) Kushans, Mauryas and Guptas

(B) Mauryas, Guptas and Shakas

(C) Mauryas, Shakas and Guptas

(D) Guptas, Shakas and Mauryas

10. Which of the following pairs is correctly matched ?

List-I
(Harappan Site)
1. Manda

ii. Rakhigarhi
iii.  Nageshwar
iv. Kalibanga

Options :

(A) 1i1andiv

(B) 1andiv

(C) 11 and 11

(D) 11 andiv

List-I1
(Location)
Uttar Pradesh
Sindh
Gujarat

Rajasthan

11. Which of the following dynasties queen Prabhavati belonged to ?

(A) Gupta
(C) Kushana

61/2/2

(B) Maurya

(D) Vakataka
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12. = g e feu e £, wh sifired (A) 3 gru Rw (R)
AftreRer (A) : SHTER 3 ST § ST SeIeRd % TOd I A H § =5 6 |
FROT (R) : N 61 37971 h1 v Foret off |
(A) (A) 3 (R) GHT a2 & 3R (R) (A) 1 &I TR 2 |
(B) (A) 3 (R) 3HT w1 & 3R (R) (A) 1 &1 TR 8 7 |
(C) (A) @& 2, AfT (R) vt 721 2 |
(D) (R) @& 2, AT (A) Tt 721 2 |

13. IEA-T-3rhadl & 9N § TreAfetiaa o & &5 o Seesia ad € 2
[ 98 37sg TSl GRI ST W1 | foran T |
II. w9 3TTETe), WTel B o TEvEmd o Jaied 2 |
II1. fédTe-3mand), &= i i seme & Hefid © |
IV. Tooh-JATENEY, TTHTsY o focfia v @ weiftra 8 |

forpea :
(A) 11, III 3R IV (B) III, IV 31
(C) IV, 13RIl D) I, II 3 III

14. fefafga i a s @ gm e @ ?

(T=3) (1857 o fargrg & =em)
A)  HEAR ;e A
(B) wEWW  : WEAA
(C) foer B SN

(D) SW¥eW T
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12. Given below are two statements, one labelled as Assertion (A) and other
labelled as Reason (R) :

1

Assertion (A) : Zamindars defaulted on payments in the Permanent

Settlement.

Reason (R) : Prices of the agricultural produce were low.

(A) (A) and (R) are correct and (R) is the correct explanation of (A).
(B) (A) and (R) are correct and (R) is not correct explanation of (A).
(C) (A) 1s correct but (R) is not correct.

(D) (R) is correct but (A) is not correct.

13. Which of the following informations are correct about Ain-i-Akbari ?

L
II1.
III.

IV.

Written by Abdul Razi in Arabic language.

Manzil-abadi, concerns the imperial household

Sipah-abadi, covers the military and civil administration.

Mulk-abadi, deals with the fiscal side of the empire.

Options :
(A) 1L T and IV
(C) IV, IandII

@B) III,TV and I
D) 1,11 and III

14. Which of the following pairs is correctly matched ?

61/2/2

(A)
®)
©)
D)

(State)

Kanpur

Madhya Pradesh
Bihar

Uttar Pradesh

(Leader of 1857 Revolt)

Tantya Tope
Shahmal

Kunwar Singh

Gonoo

13
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-1 gi-11
(dor) (&)
a.  FER 1. Tefe fag
b. TR 2.  IE™
c. ghEmE 3. HUSFRT TR
d. f@ad 4. «&ETwHie
forepea :
a b ¢ d
A 1 3 2 4
B 1 2 3 4
< 2 3 4 1
D 4 2 3 1

16. At w3 daw i Frefeiad we 3 8 w9 wad @ E 7
(A) IR Afess WA T 1000 £.9, & 1600 3. % sier Hepferd foham mam |
(B) krae H 1M, 55 SN W ) Tia H Ho9 A § |
(C) T 37 3TYaHe I3 TSI g AT A1 o |
(D) 3ufg H o sffeep feram firetd & |

17. weu & Frefafaa &1 § & fohe wh 1 ToveR-SIeqt S&hia’ a1 ST o1 ?
(A) AR B) wae
(C) ol D) =S
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15. Match the following :

List-I List-I1
(Cult) (Saints)
a. Alvar 1.  Guru Gobind Singh
b. Nayanar 2 Andal
c. Sufism 3. Karaikkel-Ammaiyaar
d. Sikhism 4 Baba Farid
Options :
a b ¢ d
a“a 1 3 2 4
B 1 2 3 4
© 2 3 4 1
@ 4 2 3 1

16. Which one of the following statements regarding the Vedic tradition is

incorrect ?

A)
B)
©)
D)

1

The early Vedic tradition was compiled between BC E. 1000 to 1600 CE.

The Rigveda consists of hymns in praise of Agni, Indra and Soma

The Rajasuya and Ashvamedha Yajnas were performed by Kings

Many Vedic ideas were found in the Upanishads.

17. Which one of the following regions of Harappa was called as ‘Ganeshwar
Jodhpur Culture’ ?

(A) Nageshwar

(C) Amn

61/2/2
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(B) Khetri
(D) Chanhudaro

1
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18. freferfaa o & o @1 fosheu gafaa @ 2 1

(St FgaTsd! o) ()
A) g - T
(B) gt - M
©) g -
(D) wHEER - sfice
19. I 31 e fu T &, v S1fiehed (A) 3TR ge wR (R) 1

TR (A) : 1929 H HTUF T ATGR ITRIAYH Hgeaqet o |

HROT (R) : I SO 37 QU7 Tasan ok i Sdagat ol Sy uTia <6 1TE off |
@) (A) 3T (R) 1 T E 3R (R) (A) 1 92 TTEF 2 |

B) (A) 3R (R) G FEl & 3 (R) (A) 1 Fel TEHTT e ¢ |

(C) (A=l &, i (R) WEl el |

(D) R) =& e, fh (A) HE TR |

20. fr=ferfaa =t § 9 % qame @ o 7 1
(A) T AR B) i IE
(C) dexger D) BT S

21. ARG § ¥ fopa dfaem™ S91 # Aigensti & foTg 7 STRET 31 7 qUe e Sfes

™ A ? 1
(A) Trer e (B) &4 HE
(C) =T TSTS A (D) TSHAT 39d B
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18. Which of the following is correctly matched ?

(First Millennium Thinker)

(A)
®)
©)
D)

Zarathustra
Kungzi
Socrates

Mahavira

(Country they Belonged)
Iran
Japan
Rome

Sri Lanka

19. Given below are two statements, one labelled as Assertion (A) and other

labelled as Reason (R) :

Assertion (A) : Lahore session of Congress in 1929 was significant.

1

Reason (R) : Proclamation of commitment to ‘Poorna Swaraj’ or complete

independence was passed.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of

A).

(C) (A) s correct and (R) is not correct.

(D) (R) is correct and (A) is not correct.

20. Who among the following travellers was from Portugal ?

(A) Antonio Monserrate

(C) Peter Mundy

(B) Domingo Paes

(D) Francois Bernier

21. Who among the following demanded justice for women, not reserved seats

or separate electorates in the Constituent Assembly ?

(A) Malti Chaudhary
(C) Begum Aizaz Rasul

61/2/2
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(B) Hansa Mehta

(D) Rajkumari Amrit Kaur

1
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22.

23.

24.

25.

26.

27.

wuus -9

(T TIT TR & TH) 6x3=18

(a) <A o firem arer Te giTer ST S 3Tl gfRg fohw wehr o 7 3ere

giga w8 $HifTT | 3
ST

(b) T TTHYOT FHTS W 9 =Rt shi fireht i T hifT | 3

“Trgiee! Tsh GRNTTa el Sheg o7 | SR dehi Afgd 38 HYH hl If¥ HIRT | 3

‘IREH! YTaTedl, W hlesh H SRS Hal o gRI Teh eiftieh 3T TTHTfeieh e 8311 |

IR TegaTi o W1 U i T HIT | 3

(a) dig g 1 g fremsti 1 guia Hife | 3
Jrora

(b) I g Y Fremati 1 9viE Hife | 3

1857 % Ter5IE o1 oM 31U o foru srrer aferd T8l g311 |’ 36 o 1 Serevl afed
Wy HIfT | 3

G |91 § WSigd e o 9e7 H e T qent 6t same i | 3
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SECTION - B
(Short Answer Type Questions) 6x3=18

22. (a) How revenue from the land was the economic mainstay of the

Mughal Empire’ ? Explain with examples. 3
OR

(b) Explain the role of village panchayats in the Mughal rural society. 3

23. ‘Mohenjodaro was a Urban Centre.” Support the statement with suitable

arguments. 3

24. ‘In the twelfth century, Karnataka witnessed a religious and social

movement under the Virashaiva Saints.’ Support the statement with

suitable points. 3

25. (a) Describe the main teachings of Buddhism. 3
OR

(b) Describe the teachings of Jainism. 3

26. ‘British did not have an easy time in putting down the Revolt of 1857’

Explain the statement with examples. 3

27. Explain the arguments given in favour of strong Centre in the Constituent

Assembly. 3
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28. (a)

(b)

29. (a)

(b)

30. (a)

(b)

61/2/2

Wug -1
(Srdl ST TR <k TH) 3x8=24

o 1 & SAfe@l 1 339 F8 Feren T ¢ stfieEt i Hmeti s
HIfST | 2+6=28

YA

SfTgTaeRTll ! HId Tt o SR H 8 IdT Ioidl & ? 71 GrHTsT 6l IemEiTen 9=

&l = HIT | 4+4=8

T gty i fererad) <Y forsiwansti <) gw@ Hifs | 8
DG

T a6 WTE Sheg 1 fawiwansti ) ywg hifsu | 8

“vg fafirr &1a & St g8 9Rd % UPiE Ao | HeETeHT M % A % S R
forey S7AGME e A & |7 37 |l <l 3QTE Afed ST i | 8

AU

%3 forgl < ST % wTe % WM 1 e 1 Anad & Fi HET R 7 IR
g ST HifT | 8
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28. (a)
(b)
29. (a)
(b)
30. (a)
(b)

61/2/2

SECTION - C

(Long Answer Type Questions) 3x8=24

How were the inscriptions of Maurya period deciphered ? Explain the

limitations of epigraphy. 2+6=8
OR

How do Historians come to know about Maurya period ? Explain the

administrative structure of Mauryan empire. 4+4=8

Examine the features of fortification of the Vijayanagar empire. 8
OR

Examine the features of Royal Centre of the Vijayanagar Empire. 8

“There are different sources that provide us special insight into the
working of Mahatma Gandhi in the National Movement of India.”

Explain the statement with example. 8
OR

Why have many Scholars written of the months after Independence

as being Gandhiji’s finest hours ? Explain with examples. 8
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31.

Qg -

(Ea 3meniE Te) 4x3=12
frafafga g 1 e 9 ufeu st A= feu 1o gy & s fafa 1+1+2=4
g |G U

TE W HETITA o 37775957 8 3gd HeH H1 3 :

qigd T84 o9 H =t T & | eh L o Hl TT; shalol fgdi uied W19 St 3199 91 & foig
Tftg 9, T@aTell Hd ) | Th el Terd & uiedt shi Ay e 3 fomafera feram 3t a9
319t we Taferan =1 38 wehgat M & forw i | faferan +fiw 1 Tee wifea &1 718 31
TS Gt Tt o 99 H 304 ofm ¥ faarg @1y fon, 59 3 srefeer o fean | 3|
9 TeE TRl 37 T 3R 36 i I vt g o foTu e | ofim 3 35T A Bl
wfiepr fora 3T IHehT 99 L fearm | TR gkt 3= ured < T | fafemn 4 3= stoe
after faam i ofiw & ufd 310 S0 & 3= 3TaTd O™ | 98 Sl § Sl ¢ g 7EM o,
9 o, 1 3R 379 o o1 oft aitem o fearm 2 37 3TTdeh o |ge O T 319 dfd
% &9 1 = foRam 7. =R 3T g3 W THel Sreran 7ot wufia ereft, e g3 o wny
o qUT 31U I AU i &Y |7

Fraa: IR 39 wd W 39 foarg & fote qam g o fo fim ferr feferan & o e afa
T I9eh ITE AT MG | g <ufd fea w2 aeft oienl o1 BT htd | g0 o W feferan 3 o

T g3 1 T4 e fgest T geicha W@ | deaverd ot 37 g uredl Bl sigwt 9 A
Tt MU fohq Teichd 3 I8 WO fora fob e oft uTeal bt 3ueht weta g a8 3ufera g

SATQ |
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SECTION -D
(Source Based Questions) 4x3=12

31. Read the given source and answer the questions that follow : 1+1+2=4
A Tiger-like Husband

This is a summary of a story from the Adi Parvan of the Mahabharata :
The Pandavas had fled into the forest. They were tired and fell asleep;
only Bhima, the second Pandava, renowned for his prowess, was keeping
watch. A man-eating rakshasa caught the scent of the Pandavas and sent
his sister Hidimba to capture them. She fell in love with Bhima,
transformed herself into a lovely maiden and proposed to him. He refused.
Meanwhile, the rakshasa arrived and challenged Bhima to a wrestling
match. Bhima accepted the challenge and killed him. The others woke up
hearing the noise. Hidimba introduced herself, and declared her love for
Bhima. She told Kunti: “I have forsaken my friends, my dharma and my
kin; and good lady, chosen your tiger-like son for my man ... whether you
think me a fool, or your devoted servant, let me join you, great lady, with
your son as my husband.”

Ultimately, Yudhisthira agreed to the marriage on condition that they
would spend the day together but that Bhima would return every night.
The couple roamed all over the world during the day. In due course
Hidimba gave birth to a rakshasa boy named Ghatotkacha. Then the
mother and son left the Pandavas. Ghatotkacha promised to return to the

Pandavas whenever they needed him.
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31.1 faferm & deapfa wisdi @ fora yerm fir= off 7
31.2 et = ofiw o foru feferan it wremn =1 =1 whier fomam 2

31.3 39 =T Fal %1 gaRIar i 4 g feram 2

32. frefaftga | =1 e 9 afeu 3R =t feu o i < S fafen - 1+1+2=

feremet wgwr areht R v
TEHA o fIwa 4 srafoe 98 foraan 2

Afe 3Td 0 HlSTS (Tepel WIS WG ) W IR IHT =Ted & A1 A8 HEH Tl &
Fifeh 3T AToT Y g &, WL T foufwat, IHT # & 39 v Y i dgd faega |
TEH Th €1 9] b foT0 s 71se, 7eT a1 SFc SHI, T Bid & 3T Th €l Ieg h1 I
S T3l % TorT 2T 2, T wef) b w3 forw frfirer fersiaeh dobael % me &

TS GER ¥ 31T fehall ST 3TTare 2 |
32.1 ATl - TEhdl ! i1 ST 8 fohd TehR A1 ?
32.2 TEhd W I U JTaTien STetfers % %l Sl Th 3w i |

32.3 “TEEhd ! Teh TRITet U8 aTelt 9191 % ST % RO o1 forweiwor Hifse |
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31.1 How was Hidimba’s culture different from Pandavas ? 1

31.2 Why did Kunti approve Hidimba’s plea for Bhima ? 1
31.3 How did this incident prove Kunti’s far sightedness ? 2
32. Read the given source and answer the questions that follow : 1+1+2=14

A language with an enormous range
Al-Biruni described Sanskrit as follows :

If you want to conquer this difficulty (i.e. to learn Sanskrit), you will
not find it easy, because the language is of an enormous range, both in
words and inflections, something like the Arabic, calling one and the same
thing by various names, both original and derivative, and using one and
the same word for a variety of subjects, which, in order to be properly
understood, must be distinguished from each other by various qualifying

epithets.
32.1 How did Al-Biruni compare Sanskrit with Arabic ? 1

32.2 Give an example of the work Al-Biruni translated in Arabic from

Sanskrit. 1

32.3 Analyse the reason of Sanskrit considered as a language with

enormous range. 2
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33. fr=fafaa & 1 ermyEe afeu 3 Fi= fou gt o 3o forflg 1+1+2=

g fard o segm
Sefer sl gTerd 3T ST 61 Fetr o aR) § gl fue § wgr T g

TGS 0 W el S TRt ST o 3TR Tl 8¢ deh S Tna-aw o e o s=e
o foru weft SIreft off | werfir a 1203, 9e7aR 89 1796-97 # fasht & foru forsmfia sweff
<t faerifca Tfdr (Sem) 28,70,061 faeset 5. oft 3R 98 areda ® 17,90,416 &. § St 15
3R 14,18,756 %. 3h! TR [T o & H YT g5 | TIHT Fad 1204, TGIR T 1797-
98 1 26,66,191 Taerp1 . o foru Siefi= fomfua 1 € 22,74,076 faeept . 61 S o=t
TS 3TR 3R TR 21,47,580 Tkt %. off | SThIERT o %o AR ¢ o 55 IO IRari | 9
1A Y Afean, usenEl, faemge (@t e % fer) anfe % TS | ETe o et e
ST o ged ST & 3h! BTeTd foTe T8 | 32 TRel 3T SRaTd} 31 ATHAT AT 98T 37
% AT § A1 e FHERoT 1 T bl T -1 T & 7w Tetea SAfereh1ia sl

+ff ST SHicTsat Sor 7Lt |
33.1 38 ‘Ufere e’ og ST o 10T hl Sf shifT |
33.2 Sreie o & e ol o it o age =i g 2

33.3 39 faid <) foredi < Himnati =1 fergermor hifsa |
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33. Read the following source and answer the questions that follow: 1+1+2=4

From the Fifth Report

Referring to the condition of zamindars and the auction of lands, the Fifth

Report stated :

The revenue was not realised with punctuality, and lands to a
considerable extent were periodically exposed to sale by auction. In the
native year 1203, corresponding with 1796-97, the land advertised for sale
comprehended a jumma or assessment of sicca rupees 28,70,061, the
extent of land actually sold bore a jumma or assessment of rupees
14,18,756 and the amount of purchase money sicca rupees 17,90,416. In
1204, corresponding with 1797-98, the land advertised was for sicca
rupees 26,66,191, the quantity sold was for sicca rupees 22,74,076, and
the purchase money sicca rupees 21,47,580. Among the defaulters were
some of the oldest families of the country. Such were the rajahs of
Nuddea, Rajeshaye, Bishenpore (all districts of Bengal), ... and others, the
dismemberment of whose estates at the end of each succeeding year,
threatened them with poverty and ruin, and in some instances presented
difficulties to the revenue officers, in their efforts to preserve

undiminished the amount of public assessment.
33.1 Examine the reason for calling it as a ‘Fifth Report’. 1

33.2 Why were activities of East India company closely debated in
England ? 1

33.3 Analyse any two limitations of this report. 2
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Qs -

(wmte= snenfia 99) 5x1=5
34.1 W % feu Terifers Y@r-amfs w swger gdiet % @ frefafad i quigd 3t

3 A ferfe -

I. 3SR — U HETSHIe 1

II.  wrefierm — fomnfaa geu quee 1

III. (a) YT — et & for=or 3 weh & 1

e
(b) TSI — WA ATHTS 1

34.2 3 WWT-THRT W IR TPATE TS % & gl ol ‘A’ 3R B’ % &4 H
Tafemra foran o &, 378 weentiY 3R 3ok ure S TS st W 3k wat A foifew | 2

e : frafeafen v wact 9.9, 34 o wrm givanfia udenfof & e & -

34.1 fohfaa ggun et & feregl €1 qureereti & amm fafaw | 2

34.2 (a) WA WETSA % 3¢ forelt ww & b1 A fafew 1
e

(b) TSR HTHTSY 3 TG 1 A4 fARIT | 1

34.3 W T iSiom A Gafrd foregl a1 sheal o1 71 ferfaw | 2
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SECTION - E
(Map Based Questions) 5x1=5

34.1 On the given Political outline map of India, locate and label the following

with appropriate symbols :

I.  Ujjaiyini — A Mahajanpada 1

II. Kalibanga — A matured Harappan Site 1

III. (a) Panipat — A territory under the control of Mughals 1
OR

(b) Thanjavur — An empire of the Medieval Period. 1

34.2 On the same outline map, two places regarding the centre of the Indian
National Movement have been marked as ‘A’ and ‘B’. Identify them and

write their correct names on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 34 :

34.1 Name any two Budhhist sites of the matured Harappan period. 2

34.2 (a) Name any one territory under Mughal Empire. 1
OR

(b) Name the capital of Vijayanagar Empire. 1

34.3 Name any two centres related with Indian Nationalist Movement. 2
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